-J00293

INSTRUCTIONS

REV. 5-1-93

Kit Number 56467-88A

LUGGAGE RACK

General

This kit is designed for installation on 1982 and later XL and
1982 and Later FXR model vehicles equipped with a sissy
bar and side plate kit.

AWARNING
Maximum recommended load for luggage rack is 10 Ibs.

This kit contains the following parts:

QTY DESCRIPTION

Screw, 1/4-28 x 1-3/8 in. socket head
Screw, 1/4-28 x 5/8 in. socket head
Locknut, 1/4-28

Side plate, left

Side plate, right

Luggage rack

e = N =Y

Installation

1. Remove reflector from sissy bar side plates, if
applicable, to gain access to sissy bar mounting screws.
Remove excess reflector adhesive.

NOTE
New reflectors, Part Number 59267-83A, must be
purchased separately.

2. Remove and discard the screws securing sissy bar to
sissy bar side plates.

3. See Figure 1. Position luggage rack support brackets
(1) inside of sissy bar assembly. Thread two 1/4-28 x 1-
3/8 in. screws (2) through holes in sissy bar side plate,
sissy bar and luggage rack support. Retain with 1/4-28
locknuts (3) from kit. Do not tighten.

4. Repeat step 3 for other side.

1. Luggage rack

4.Luggage rack

support bracket 5.8crews,

2. Screws, 1/4 - 28 x 5/8 in.
1/4 - 28 x 1-3/8 in. 6.Locknuts

3. Locknuts

Figure 1. Luggage Rack Installed

Place luggage rack (4) between support brackets so
support brackets are against outside edge of luggage
rack.

Secure luggage rack to support brackets with 1/4-28 x
5/8 in. screws (5) and locknuts (8) from kit.

Tighten hardware installed in step 3.



